Motion Equation Questions 2: Displacement SOLUTIONS

1. 3
_ _ _ -1 _ -2
(@ s=? r=38s y,=1.5ms’ a=0ms @) v, =y, cos @ =32cos41° =24 ms™
S=V0t . : o -1
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=57m (b) The vertical component is used to calculate
the time of flight.
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(@) s=? t=103s v,=0ms’ a=-9.8 ms> Then horizontal:
s=vt+iat’ s=? t=43s v,=24ms’ a=0ms”
=lar’ s=vt+iat’
=1x-9.8x10.3’ =Vt
=520 m =24x43
=100 m (2 s.f.)

(b) It would take the same amount of time.
Horizontal and vertical components of
velocity don't affect each other.

() s=? t=103s v,=21.6ms" a=0ms’
s=vt+iat’

=yt
=21.6x10.3
=222 m

(d) Higher launch means more time to fall.
Horizontal velocity is constant so s, o< ¢



